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QUESTION 1

You are using destination NAT to translate the address of your HTTPS server to a private address on your SRX Series
device. You have decided to implement IDP SSL decryption. Upon enabling the decryption, you notice sessions are not
decrypted.

Which action resolves the problem?

A. Replace the server SSL certificate to use the public address.

B. Reboot the SRX Series device.

C. Increase the SSL session-id-cache-timeoutvalue to any value greater than 5000 seconds.

D. Enable the IDP sensor-configurationdetector to detect address translation.

Correct Answer: D

QUESTION 2

You are asked to configure your SRX Series device to support IDP SSL inspections for up to 6,000 concurrent HTTP
sessions to a server within your network.

Which two statements are true in this scenario? (Choose two.)

A. You must add at least one PKI certificate.

B. Junos does not support more than 5000 sessions in this scenario.
C. You must enable SSL decoding.

D. You must enable SSL inspection.

Correct Answer: CD

QUESTION 3

What is a benefit of using a dynamic VPN?

A. It provides a layer of redundancy on top of a point-to-point VPN mesh architecture.
B. It eliminates the need for point-to-point VPN tunnels.

C. It provides a way to grant VPN access on a per-user-group basis.

D. It simplifies IPsec access for remote clients.

Correct Answer: D
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QUESTION 4

You are asked to implement a Dynamic IPsec VPN on your new SRX240. You are required to facilitate up to 5
simultaneous users.

Which two statements must be considered when accomplishing the task?
A. You must acquire at least three additional licenses.

B. Your devices must be in a chassis cluster.

C. You must be a policy-based VPN.

D. You must use main mode for your IKE phase 1 policy.

Correct Answer: AC

QUESTION 5

You are asked to ensure traffic from your executive staff does not use the same ISP connection as your other traffic.
Which three actions are required to accomplish this task? (Choose three)

A. Create a firewall filter to match this traffic and send this traffic to the routing instance.

B. Create a routing instance and define the type as no-forwarding.

C. Assign the outgoing interface to the no-forwardinginstance.

D. Create a routing instance and define the type as forwarding.

E. Create a RIB group to share routes between the main instance and the routing instance.

Correct Answer: ADE
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